
 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 1 

PEAKTRONICS
 

 
 
 
 

 

MKT-173 
 

Mounting Kit 
 

ASSEMBLY DIAGRAM Noah NA15, 19  3-phase Actuators 

ACTUATOR CONTROLLER INSTALLATION

STANDARD
CONTROLLER

J

M
V

H

Q

D

E

A

P

POT WASHER

POT LOCKWASHER

POT HEX NUT

N

M V

TRANSMITTER

(3) Switches maximum

NOTE: Remove unused
screw from transmitter.

 



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 2 

 
 
 

ASSEMBLY DIAGRAM Noah NA28, 38, 50  3-phase Actuators 

ACTUATOR CONTROLLER INSTALLATION

STANDARD
CONTROLLER

J

M
V F

Q

D

E

A

P

N

POT WASHER

POT LOCKWASHER

POT HEX NUT

N

M V

TRANSMITTER
(5) Switches maximum

NOTE: Remove unused
screw from transmitter.



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 3 

 
 
 

ASSEMBLY DIAGRAM Noah NA60, 80, 100, 150, 200, 250  3-phase Actuators 

ACTUATOR CONTROLLER INSTALLATION

STANDARD
CONTROLLER

J

M
V

I

F

S

Q

D

E

A

B

P

N

POT WASHER

POT LOCKWASHER

POT HEX NUT

N

M V

TRANSMITTER
(5) Switches maximum

NOTE: Remove unused
screw from transmitter.



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 4 

 
 
 

ASSEMBLY DIAGRAM Noah NA15, 19, 28, 38, 50, 60, 80, 100, 150, 200, 250  3-phase Actuators 

K
T

L
U

R

ACTUATOR

XFR-100

L2

L1

M2

M1
COMMON

CLOSE

OPEN

(GREEN)

(AMBER)PEAKTRONICS

SSD-100

SERIAL No.

700-40A

C

L
U

R

L
U

R

L
U

R

L
U

R

L
U

R

K
T

LCU / COVER

SSD-100

AUXILIARY or METAL LCU ENCLOSURE

 



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 5 

KIT CONTENTS 
 
 

D E

C

A

B

 
 
 

R

T

K L

U

F H I J M

N P Q

S V

 



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 6 

KIT CONTENTS continued 
 
 
 ITEM QTY DESCRIPTION 
 
 A 1 actuator bracket 
 B 1 adpator plate (for NA60, 80, 100, 150, 200, 250) 
 C 1 LCU/auxiliary enclosure bracket 
 D 1 potentiometer gear 
 E 1 output shaft gear 
 F 1 8mm/1.25mm  x  50mm socket head cap screw 
 H 1 8mm/1.25mm  x  30mm socket head cap screw 
 I 1 8mm/1.25mm  x  12mm socket head cap screw 
 J 1 #6-32  x  0.75" pan head screw 
 K 2 5mm/0.8mm  x  10mm socket head cap screw 
 L 6 #8-32  x  0.375"  pan head screw 
 M 2 #6-32  x  0.375" pan head screw 
 N 2 0.787" nylon spacer (0.562" O.D.) 
 P 1 0.375" nylon spacer (0.25" O.D.) 
 Q 1 potentiometer anti-slip washer 
 R 6 #8 flat washer 
 S 1 8mm split ring lockwasher 
 T 2 5mm split ring lockwasher 
 U 6 #8 split ring lockwasher 
 V 2 #6 split ring lockwasher 
 W1 1 24" blue wire 
 W2 1 24" red wire 
 W3 1 24" black/yellow wire 
 W4 1 24" blue/white wire 
 W5 1 24" red/white wire 
 W6 1 24" white/blue wire 
 W7 1 24" white/red wire 
 W8 1 24" white/black wire with spade terminal 
 W9 1 18" brown wire with spade terminal 
 W10 1 18" white wire with spade terminal 
 W11 1 16" black wire 
 W12 1 16" white wire 
 W13 1 16" blue wire 
 W14 1 16" red wire 
 W15 1 14" orange wire with spade terminal 
 W16 1 5" black wire 
 W17 1 4" orange wire 
 W18 1 4" white/black wire 
 W19 1 2.5" green wire 
 not shown 1 22-18 AWG spade terminal 
 not shown 2 22-14 AWG wire nut 
 not shown 12 6.3" nylon tie wrap 



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 7 

3-
P

H
A

SE
D

IG
IT

A
L

P
O

SI
T

IO
N

E
R

N
oa

h
N

A
15

,
19

,
28

,
38

,
50

,
60

,
80

,
10

0,
15

0,
20

0,
25

0
3-

ph
as

e
A

ct
ua

to
rs

W
IR

IN
G

D
IA

G
R

A
M

1 2 3 4 5 6 7 8

1 2 3

7 6 5

SS
D

-1
00

X
FR

-1
00

J1 J6 12

J2

1J7 2

DHC-300

A
U

X
O

PE
N

O
U

T

A
U

X
C

L
O

SE
O

U
T

FA
U

L
T

O
U

T

+
15

V
O

U
T

PU
T

+
5V

O
U

T
PU

T

1-
5V

,
0-

5/
10

V

4-
20

m
A

SI
G

N
A

L
G

N
D

E
A

R
T

H
G

N
D

L
IN

E

N
E

U
T

R
A

L

L
3

L
2

44
0V

A
C

(R
E

D
)

(V
IO

)
(O

R
G

)
38

0V
A

C
23

0V
A

C

L
1

co
m

m
an

d
si

gn
al

fe
ed

ba
ck

m
on

ito
r

3-
ph

as
e

m
ot

or

POT-102

L
2

L
1

M
1

M
2

O
PE

N

C
L

O
SE

C
O

M
M

O
N

W
6

W
H

T
/B

L
U

W
7

W
H

T
/R

E
D

W
5

R
E

D
/W

H
T

W
4

B
L

U
/W

H
T

W
H

T
B

L
K

B
R

N
O

R
G

V
IO

R
E

D

W
1

B
L

U

W
2

R
E

D

W
3

B
L

K
/Y

E
L

A
U

X
E

N
C

L
O

SU
R

E
A

C
T

U
A

T
O

R

W
13

B
L

U

W
14

R
E

D

W
H

T

B
L

K

R
E

D

U
se

pr
ov

id
ed

w
ir

e
nu

ts

=
ac

tu
at

or
te

rm
in

al
st

ri
p

12 4
W

12
W

H
T

W
11

B
L

K

C
on

ne
ct

ap
pr

op
ri

at
e

w
ir

e
an

d
ca

p
un

us
ed

w
ir

es
w

ith
pr

ov
id

ed
w

ir
e

nu
ts

.

3 2 1

10 11
56

O
L

S
O

T
S

C
T

S
C

L
S

W
H

T
/B

L
K

E
ns

ur
e

th
at

ju
m

pe
r

is
in

st
al

le
d.

4 3 2 1

OTR-100only

O
T

X
-1

00
(o

pt
io

na
l)

O
T

R
-1

00
(o

pt
io

na
l)

V
O

U
T

PU
T

m
A

O
U

T
PU

T

SI
G

N
A

L
G

N
D

R
E

L
A

Y
C

O
M

M
O

N

E

W
19

G
R

N



 MKT-173 
 

 www.peaktronics.com  
PEAKTRONICS, Inc. 1363 Anderson     Clawson, MI  48017     Phone (248) 542-5640     FAX (248) 542-5643 800-173C     page 8 

 

N
O

N
C

C

3-
P

H
A

SE
D

IG
IT

A
L

P
O

SI
T

IO
N

E
R

w
it

h
L

C
U

N
oa

h
N

A
15

,
19

,
28

,
38

,
50

,
60

,
80

,
10

0,
15

0,
20

0,
25

0
3-

ph
as

e
A

ct
ua

to
rs

W
IR

IN
G

D
IA

G
R

A
M

1 2 3 4 5 6 7 8

1 2 3

7 6 5
4 3 2

1

SS
D

-1
00

X
FR

-1
00

O
K

O
C

R
L

J1 J6 12

J2

1J7 2

DHC-300

O
T

R
-1

00

R
E

L
A

Y
C

O
M

M
O

N
FA

U
L

T
O

U
T

A
U

X
O

PE
N

O
U

T

A
U

X
C

L
O

SE
O

U
T

SI
G

N
A

L
G

N
D

m
A

O
U

T
PU

T

V
O

U
T

PU
T

+
15

V
O

U
T

PU
T

+
5V

O
U

T
PU

T

1-
5V

,
0-

5/
10

V

4-
20

m
A

SI
G

N
A

L
G

N
D

E
A

R
T

H
G

N
D

L
IN

E

N
E

U
T

R
A

L

L
3

L
2

44
0V

A
C

(R
E

D
)

(V
IO

)
(O

R
G

)
38

0V
A

C
23

0V
A

C

L
1

co
m

m
an

d
si

gn
al

fe
ed

ba
ck

m
on

ito
r

O
PE

N

C
L

O
SE

ST
O

P

R
E

M
O

T
E

L
O

C
A

L

3-
ph

as
e

m
ot

or

A
M

M
-1

00

C
S

1
O

L

R
em

ov
e

ex
is

tin
g

w
ir

e
as

se
m

bl
y

an
d

in
st

al
l

W
18

as
sh

ow
n.

R
L

Y
-1

00

POT-102

R
L

Y
-1

00

C
ri

m
p

sp
ad

e
te

rm
in

al
to

ex
is

tin
g

w
ir

e.

W
15

O
R

G
W

17
O

R
G

W
10

W
H

T

L
2

L
1

M
1

M
2

O
PE

N

C
L

O
SE

C
O

M
M

O
N

W
6

W
H

T
/B

L
U

W
7

W
H

T
/R

E
D

W
5

R
E

D
/W

H
T

W
4

B
L

U
/W

H
T

W
H

T
B

L
K

B
R

N
O

R
G

V
IO

R
E

D

W
1

B
L

U

W
2

R
E

D

W
3

B
L

K
/Y

E
L

W
8

W
H

T
/B

L
K

R
E

D

B
L

U

B
L

K

O
R

G

Y
E

L

W
H

T

V
IO

G
R

Y

L
C

U
A

C
T

U
A

T
O

R

W
18

W
H

T
/B

L
K

W
9

B
R

N

W
13

B
L

U

W
14

R
E

D

W
H

T

B
L

K

R
E

D

U
se

pr
ov

id
ed

w
ir

e
nu

ts

=
ac

tu
at

or
te

rm
in

al
st

ri
p

12 4
W

12
W

H
T

W
11

B
L

K

C
on

ne
ct

ap
pr

op
ri

at
e

w
ir

e
an

d
ca

p
un

us
ed

w
ir

es
w

ith
pr

ov
id

ed
w

ir
e

nu
ts

.

3 2 1

10 11
56

O
L

S
O

T
S

C
T

S
C

L
S

IN
D

IC
A

T
O

R
L

IG
H

T
S

W
16

B
L

K

W
H

T
/B

L
K

E

W
19

G
R

N


